
product

Shift 
(extendable)

designer

Jorre van Ast
Year

2019

arco

Assembly
instructions

we 
are
arco

we 
make 
tables

Please follow step 1 - 11

1

2 3

1/3

#4 #5

cap
plastic/felt 

plastic or felt 

cap
plastic / felt 

1. put all screws in place,
don’t lock screws immediately!

2. tighten screw no.1 

3. tighten screws no.2   

#4

#4

M6x30
4x 

M6x10
2x 

M6x40 
4x 

M6x12
6x 

M6x30
4x

M6x10
2x

M6x40
4x

Don’t overtighten screw no.1 
Tighten until screw head is max. 
1 mm under the surface

no wheel

no wheel

No.2

No.2No.1

2x

4x



4 5

2/3

6 7

Pay attention to
wheel direction! 

#4
M6x12
6x 

perpendicular to
table length

parrallel to
table length

2x

spring

bushing



3/3

tighten (6x)

#5

see attached manual for
operating instructions 

8

click!

Place extension leaf between the spring and bushing

unfold extension leaf

9

10 11


